
Fall Final Exam Review

1. Find the slope of the line through P(2,-1) and Q(5,7)




2. Find the slope of the line through P(5,4) and Q(3,7)



3. Graph y+5=2x, using y-intercept form.
[image: https://encrypted-tbn2.gstatic.com/images?q=tbn:ANd9GcRZcNLE_r5uyJ5CV5uxzKss3lfY_mSFBz4RX7sq7jz9lYO0fl8n8Q]
4. What is the y-intercept of question #3
[bookmark: _GoBack]

5. Determine the interval on which the function is decreasing
[image: http://image.tutorvista.com/cms/images/39/increasing-and-decreasing-interval-of-a-function.JPG]
6. Find all asymptotes, holes, & domain of the function  


7. Find all asymptotes, holes, & domain of the function  

8. Let f(x)=2x+1, g(x)=3x-2. Find :
a) (f-g)(x)
b) (f+g)(x)
c) (g(x)

9. [image: http://mathedu12.site40.net/images/liner-equate-1_1.jpg]Circle the function that is one-to-one:
a. [image: http://www.mathsisfun.com/sets/images/function-cube.gif]Y=3x	b. y=	c. 	d. 








10. Find the inverse of f(x)=





11. Tell whether the function f(x)= is even odd. If neither, so indicate.





12. Find a polynomial with the given zeros:
2,-3


13. Use synthetic division to perform the division   



14. Find the domain of the rational function (state your solution in set notation, and interval notation):    y= 


Write each expression as a sum or difference of logarithms. Then simplify, if possible.
15. 

16. 

17. 

18. 

Condense the expression, then simplify if possible

19. 

20. 

21. 

22. 
Solve for x
Name:_____________________________ Pre-calc Period:__________Date:__________



23. 		24.    		25. 
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